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1 Question Description According to COTPA, what is the punishment for violating Sec.6 , which prohibits the sale of tobacco products to
minors?

A up to 2 years imprisonment or a fine

B A fine of up to 200 rupees

C Up to six months imprisonment or a fine

D No punishment is specified

E None of the above

Correct Answer B

Marks 1



2 Question Description Which of the following statements about the Panchayats in India, as per the Constitution of India is/ are correct?
i. There is a provision for reservation of seats for the Scheduled Castes and Scheduled Tribes
ii. Panchayats are not authorized to collect taxes

Select the correct answer using the code given below:

A i only

B ii only

C Both i and ii

D Neither i and ii

E None of the above

Correct Answer A

Marks 1



3 Question Description Which of the following is/are the function/functions of the Cabinet Secretariate?
i. Preparation of agenda for cabinet Meetings
ii. Secretarial assistance to Cabinet Committees
iii. Allocation of Financial resources to the Ministers

Select the correct answer using the code given below

A i only

B ii and iii only

C i and ii only

D i, ii and iii

E None of the above

Correct Answer C

Marks 1



4 Question Description Consider the following rights :

i. Abolition of untouchability

ii. Protection against arrest in certain cases

iii. Prohibition of discrimination on grounds of race

iv. Abolition of titles except military and academic

v. Prohibition of traffic in human beings

vi. Right to move the Supreme Court for the enforcement of fundamental rights

How many of the above rights come under the purview of Right to Equality under the Constitution of India?

A Only two

B Only three

C Only four

D Only five

E None of the above

Correct Answer B

Marks 1



5 Question Description Under the Goa Land Revenue Code, the application for conversion of use of land from one purpose to another shall be
acknowledged by the collector within ----------days from the receipt of application.

A Two months

B One month

C Fifteen days

D Seven days

E None of the above

Correct Answer D

Marks 1



6 Question Description Under Sec.10 of the Goa, Daman and Diu Agricultural Tenancy Act any tenant may surrender his right of tenancy in
respect of any land to the landlord subject to few conditions has to be satisfied and one of those conditions to be
satisfied is ----

A The surrender is made at least one month before the commencement of the year

B The surrender is made at least two months before the commencement of the year

C The surrender is made at least three months before the commencement of the year

D The surrender is made at least six months before the commencement of the year

E None of the above

Correct Answer A

Marks 1



7 Question Description The Fundamental Duties under the Indian Constitution can be most appropriately described as:

A Civic and moral duties

B Legal duties

C Duties in lieu of Fundamental Rights

D Duties that are legally enforceable

E None of the above

Correct Answer A

Marks 1

8 Question Description Which of the following is not Fundamental Duty?

A To renounce practices derogatory to the dignity of women

B To safeguard public property

C To strive towards excellence in all spheres of individuals and collective activity.

D To protect monuments and places of public importance

E None of the above

Correct Answer D

Marks 1



9 Question Description Under Goa, Daman and Diu Mamlatdar’s court Act 1966, no suit shall be entertained by a Mamlatdar’s court unless it
is brought within -------- from the date on which the cause of action arose”:

A Six months

B One year

C Two years

D Three years

E None of the above

Correct Answer B

Marks 1



10 Question Description Consider the following statements regarding CPGRAMS:
i) The system provides online access to all citizens including those in Armed Forces personnel to report their
grievances.
ii) Right to Information (RTI) matters are not taken up for redressal by CPGRAMS.
Which of the above statements is/are correct?

A Neither i nor ii

B Both i and ii

C Only I

D Only ii

E None of the above

Correct Answer B

Marks 1



11 Question Description Which of the following organization is not mentioned in the second schedule of the Right to Information Act 2005 ?

A National Security Guards

B Government Railway Police

C Border Road Development Board

D Aviation Research Centre

E None of the above

Correct Answer B

Marks 1



12 Question Description With reference to Union Government,consider the following statements
i. The department of revenue is responsible for the preparation of Union Budget that is presented to the Parliament
ii. No amount can be withdrawn from the consolidated fund of India without the authorization from the Parliament of

India
iii. All the disbursements made from Public Account also need the authorization from the Parliament of India

Which of the statements given above is/are correct ?

A i and ii only

B ii and iii only

C ii only

D i, ii and iii

E None of the above

Correct Answer C

Marks 1



13 Question Description Governance related grievances can now be registered through mobile phones under the CPGRAMS portal. What does
CPGRAMS stand for?

A Central Public Grievances Redressal and Monitoring System

B Centre Public Grievance Redressal and Regulation System

C  Centralised Public Grievances Redress and Monitoring System

D  Centralised Public Grievances Redressal and Monitoring System

E None of the above

Correct Answer D

Marks 1



14 Question Description Under Sec.12 of Goa, Daman & Diu Mundkars (protection from eviction) Act 1975 Mundkar shall be liable to be
evicted if neither the mundkar nor any member of his family has been residing in the dwelling house for a continuous
period of ---------

A Six Months

B One year

C Two years

D Twelve years

E None of the above

Correct Answer C

Marks 1



15 Question Description Where a mundkar is an agricultural labourer or village artisan, under Sec.15 of Goa, Daman & Diu Mundkars(
protection from eviction) Act 1975, the purchase price payable by such mundkar and a member of his family shall be --
-------of market value payable.

A 10%

B 15%

C 20%

D 25%

E None of the above

Correct Answer C

Marks 1



16 Question Description The authority having power to grant licenses under Part III of cinematograph Act shall be

A Mamlatdar

B Judicial Magistrate

C District Magistrate

D Sessions Judge

E None of the above

Correct Answer C

Marks 1

17 Question Description Which of the following section defines Land Revenue under the Goa Land Revenue Code 1968

A Sec.2( 20)

B Sec.2(21)

C Sec.2(22)

D Sec.2(23)

E None of the above

Correct Answer A

Marks 1



18 Question Description Consider the following statements about Fundamental Duties
i. Fundamental Duties are restricted to the Indian Citizens only
ii. Fundamental Duties are justiciable
iii. Fundamental Duties can be imposed by Supreme Court and High Court by using writs
iv. If a law in question seeks to give effect to Fundamental Duties Supreme Court will consider such law to be

unreasonable in relation to Article 14 or Article 19

Which of the statements given above is/are correct?

A i, ii and iv only

B i only

C ii, iii, and iv only

D i and iii only

E None of the above

Correct Answer B

Marks 1



19 Question Description Under which of the following circumstance Mamlatdar return the plaint under Sec.12 of Goa, Daman and Diu
Mamlatdar’s Court Act 1966

A Where the plaintiff declines to make a statement on oath

B Where it appears upon the face of the plaint that the relief claimed is not one of the kind specified in section 4

C Subject of the plaint is not within his jurisdiction

D All of the above

E None of the above

Correct Answer C

Marks 1



20 Question Description Under Article 49 of the Code of Comunidade within how many days component of the Comunidade may appeal to
Adminstrative Tribunal in case of irregularities in election

A Three days

B Five days

C Week

D Fifteen days

E None of the above

Correct Answer B

Marks 1



21 Question Description Consider the following statements regarding the growth of Local Self- government in India
i. During India’s freedom movement, Nehruji himself looked upon extreme localism as a threat to unity and

integration of the nation
ii. Ananthasayanam Ayyangar, who felt that the faction and caste-ridden nature of rural society would defeat the

noble purpose of local government at the rural level.
iii. When the Constitution was prepared, the subject of local government was assigned to the States.

Choose the correct Statement(s)

A i and ii only

B i and iii only

C ii and iii only

D i, ii and iii

E None of the above

Correct Answer B

Marks 1



22 Question Description Which concept emphasizes the importance the honesty and transparency in public service ?

A Nepotism

B Integrity

C Favouritism

D Confidentiality

E None of the above

Correct Answer B

Marks 1



23 Question Description With respect to the Directive Principles of State Policy (DPSPs) as enshrined in the Part IV of the Constitution of India,
consider the following statements
Statement I
A law enacted to implement any of the DPSPs is considered void if it is in contravention to Fundamental Rights
conferred under Article 14 and 19.
Statement II
The principles enshrined under the DPSPs are fundamental in the governance of the country, and the State is bound to
apply these principles in making laws.
Which one of the following is correct in respect of the above statements?

A Both statement I and Statement II are correct

B Both Statement- I and Statement II are correct

C Statement I is correct

D Statement I is incorrect

E None of the above

Correct Answer D

Marks 1



24 Question Description With respect to the recommendations of the Sarkaria Commission, consider the following statements:
i. A permanent Inter-State Council, called the Inter-Governmental Council, should be set up under Article 263
ii. There should be only one All-India Service
iii. The Central Government should not have the powers to deploy its armed forces without the consent of the States

Which of the statements given above is/are correct?

A iii only

B i only

C i and ii only

D ii and iii only

E None of the above

Correct Answer B

Marks 1



25 Question Description

Board of film certification under Cinematograph Act , on application for a certificate may, after examining the film ---
i. Sanction the film for unrestricted public exhibition
ii. Sanction the film for public exhibition restricted to adults
iii. Sanction the film for public exhibition restricted to members of any profession or any class of persons
iv. Refuse to sanction the film for public exhibition

Which of the statements above is/are correct

A Only i

B i, ii and iii only

C ii and iii only

D i, ii, iii and iv

E None of the above

Correct Answer D

Marks 1



26 Question Description How many ordinary meetings shall by the Comunidade in a year under Code of Comundade

A Two

B Three

C Four

D One

E None of the above

Correct Answer C

Marks 1



27 Question Description Which of the following statements are correct regarding Article 29 of the Indian Constitution?
i. It offers protection to both the religious as well as the linguistic minorities
ii. The Constitution has defined the term minority
iii. The rights under the Article are also available to the majority.

Select the correct answer using the code given below—

A i and ii only

B ii and iii only

C i and iii only

D i, ii and iii

E None of the above

Correct Answer C

Marks 1



28 Question Description How many of the following are the correct explanation/s of the relationship between the Fundamental Rights and the
DPSP?

i. Both determine the conscience of the Constitution
ii. If one restricts powers, then the other gives powers to states
iii. One works as the means and the other as the ends
iv. The harmony between them is a basic structure

Select the correct answer using the code given below

A Only one

B Only two

C Only three

D All four

E None of the above

Correct Answer D

Marks 1



29 Question Description Under which of the following section of Goa, Daman and Diu Agricultural Tenancy Act defines “to cultivate”

A Sec.2(4)

B Sec.2(5)

C Sec 2(6)

D Sec 2(7)

E None of the above

Correct Answer C

Marks 1



30 Question Description Which principle requires public administrators to make decisions based on merit and fairness rather than personal
relationships?

A Equality

B Nepotism

C Partiality

D Meritocracy

E None of the above

Correct Answer D

Marks 1



31 Comprehension READ THE PASSAGE BELOW ANSWER THE QUESTION:
When we begin to study a phenomenon, we do not actually know what we are studying. In order to learn more about it,
we formulate a hypothesis. It is important to keep in mind however, that until we thoroughly test our hypothesis and
compare the results of our experiments with its predictions, we are not on solid ground. Of course, where there are gaps
in our knowledge, we must have a hypothesis, but we must also test that hypothesis—rigorously and with an
uncompromising regard for the truth. Where the hypothesis is inaccurate, we must do more research. The hypothesis of
the industrial civilization was that by acquiring and consuming more things we would become more happy, fulfilled,
and healthy. Every day, this seems less likely.

Question Description Find the word or phrase from the passage that can be an alternative for “an untested idea suggested as an explanation
for something”

A
hypothesis

B
phenomenon

C
experiment

D
prediction

E None of the above

Correct Answer A

Marks 1



32 Comprehension READ THE PASSAGE BELOW ANSWER THE QUESTION:
When we begin to study a phenomenon, we do not actually know what we are studying. In order to learn more about it,
we formulate a hypothesis. It is important to keep in mind however, that until we thoroughly test our hypothesis and
compare the results of our experiments with its predictions, we are not on solid ground. Of course, where there are gaps
in our knowledge, we must have a hypothesis, but we must also test that hypothesis—rigorously and with an
uncompromising regard for the truth. Where the hypothesis is inaccurate, we must do more research. The hypothesis of
the industrial civilization was that by acquiring and consuming more things we would become more happy, fulfilled,
and healthy. Every day, this seems less likely.

Question Description
The formulation of a hypothesis is a must when we

A
begin to study

B
begin to experiment

C
find gaps in our knowledge

D
have are guard for truth

E None of the above

Correct Answer C

Marks 1



33 Comprehension READ THE PASSAGE BELOW ANSWER THE QUESTION:
When we begin to study a phenomenon, we do not actually know what we are studying. In order to learn more about it,
we formulate a hypothesis. It is important to keep in mind however, that until we thoroughly test our hypothesis and
compare the results of our experiments with its predictions, we are not on solid ground. Of course, where there are gaps
in our knowledge, we must have a hypothesis, but we must also test that hypothesis—rigorously and with an
uncompromising regard for the truth. Where the hypothesis is inaccurate, we must do more research. The hypothesis of
the industrial civilization was that by acquiring and consuming more things we would become more happy, fulfilled,
and healthy. Every day, this seems less likely.

Question Description Select from the following options the one that is closely synonymous with “absolute or undeviating or unyielding”

A rigorous

B uncompromising

C inaccurate

D thorough

E None of the above

Correct Answer B

Marks 1



34 Comprehension READ THE PASSAGE BELOW ANSWER THE QUESTION:
When we begin to study a phenomenon, we do not actually know what we are studying. In order to learn more about it,
we formulate a hypothesis. It is important to keep in mind however, that until we thoroughly test our hypothesis and
compare the results of our experiments with its predictions, we are not on solid ground. Of course, where there are gaps
in our knowledge, we must have a hypothesis, but we must also test that hypothesis—rigorously and with an
uncompromising regard for the truth. Where the hypothesis is inaccurate, we must do more research. The hypothesis of
the industrial civilization was that by acquiring and consuming more things we would become more happy, fulfilled,
and healthy. Every day, this seems less likely.

Question Description In the statement“…and compare the results of our experiment with its prediction”, the phrase “its prediction” implies

A
the prediction of the hypothesis

B
the prediction of the experiment

C
the prediction of a new phenomenon

D
the rigorous test of truth

E None of the above

Correct Answer A

Marks 1



35 Comprehension READ THE PASSAGE BELOW ANSWER THE QUESTION:
When we begin to study a phenomenon, we do not actually know what we are studying. In order to learn more about it,
we formulate a hypothesis. It is important to keep in mind however, that until we thoroughly test our hypothesis and
compare the results of our experiments with its predictions, we are not on solid ground. Of course, where there are gaps
in our knowledge, we must have a hypothesis, but we must also test that hypothesis—rigorously and with an
uncompromising regard for the truth. Where the hypothesis is inaccurate, we must do more research. The hypothesis of
the industrial civilization was that by acquiring and consuming more things we would become more happy, fulfilled,
and healthy. Every day, this seems less likely.

Question Description
“The hypothesis of the industrial civilization was that by acquiring and consuming more things we would become more
happy, fulfilled, and healthy ”.The passage suggests that on the basis of our experience and observation,

A
it is proven and established

B
it needs another hypothesis

C
it is unlikely to be true

D
it is unlikely to be false

E None of the above

Correct Answer C

Marks 1



36 Comprehension READ THE PASSAGE BELOW ANSWER THE QUESTION:

On March 12, 1930, when the British still had a firm grip on India, Mahatma Gandhi and seventy-eight of his disciples
strode out of the Sabarmati ashram towards the sea. In the twenty-four days that followed they walked two hundred
miles, picking up more and more companions as village after village turned out to cheer the Mahatma and raise the new
Indian flag. By the time they reached their destination, the seashore at Dandi, the group numbered several thousand.
Earlier in March, Gandhi had sent a letter to the British viceroy protesting the Salt Act, which forbade Indians to make
their own salt and left them dependent on a British monopoly for what is, in a tropical country, a necessity of life. The
viceroy did not reply. To Gandhi this was the “opportunity of a lifetime.”

Question Description
Gandhiji wrote to the British viceroy because he was

A
against the British viceroy

B
going to make salt

C
leading the salt march

D
protesting the salt act

E None of the above

Correct Answer D

Marks 1



37 Comprehension READ THE PASSAGE BELOW ANSWER THE QUESTION:

On March 12, 1930, when the British still had a firm grip on India, Mahatma Gandhi and seventy-eight of his disciples
strode out of the Sabarmati ashram towards the sea. In the twenty-four days that followed they walked two hundred
miles, picking up more and more companions as village after village turned out to cheer the Mahatma and raise the new
Indian flag. By the time they reached their destination, the seashore at Dandi, the group numbered several thousand.
Earlier in March, Gandhi had sent a letter to the British viceroy protesting the Salt Act, which forbade Indians to make
their own salt and left them dependent on a British monopoly for what is, in a tropical country, a necessity of life. The
viceroy did not reply. To Gandhi this was the “opportunity of a lifetime.”

Question Description
The Salt Act is said to be unjust to the Indians because

A
it decreed that Indians make their own salt

B
salt was a necessity of life in the tropics

C
it discouraged British monopoly

D it made Indians protest against Britain

E None of the above

Correct Answer B

Marks 1

38



Comprehension READ THE PASSAGE BELOW ANSWER THE QUESTION:

On March 12, 1930, when the British still had a firm grip on India, Mahatma Gandhi and seventy-eight of his disciples
strode out of the Sabarmati ashram towards the sea. In the twenty-four days that followed they walked two hundred
miles, picking up more and more companions as village after village turned out to cheer the Mahatma and raise the new
Indian flag. By the time they reached their destination, the seashore at Dandi, the group numbered several thousand.
Earlier in March, Gandhi had sent a letter to the British viceroy protesting the Salt Act, which forbade Indians to make
their own salt and left them dependent on a British monopoly for what is, in a tropical country, a necessity of life. The
viceroy did not reply. To Gandhi this was the “opportunity of a lifetime.”

Question Description State whether the following premises are true or false in terms of being drawn from the statement: “To Gandhi this was
the ‘opportunity of life’”:
(i) to write a letter to the viceroy expressing his displeasure over the Salt Act.
(ii) to protest the Salt Act which forbade Indians from making their own salt
(iii) to rally thousands of people against the British monopoly over salt
(iv)to lead the volunteers from Sabarmati Ashram to protest peacefully.

A premise(i)is true but premises(ii),(iii) and(iv) are false

B all the premises(i), (ii),(iii),(iv) are true

C premise (i)and(iv) are false, but premise(ii),(iii)are true

D premise (i) is false but premises(ii),(iii)and(iv)are true

E None of the above

Correct Answer D

Marks 1

39



Comprehension READ THE PASSAGE BELOW ANSWER THE QUESTION:

On March 12, 1930, when the British still had a firm grip on India, Mahatma Gandhi and seventy-eight of his disciples
strode out of the Sabarmati ashram towards the sea. In the twenty-four days that followed they walked two hundred
miles, picking up more and more companions as village after village turned out to cheer the Mahatma and raise the new
Indian flag. By the time they reached their destination, the seashore at Dandi, the group numbered several thousand.
Earlier in March, Gandhi had sent a letter to the British viceroy protesting the Salt Act, which forbade Indians to make
their own salt and left them dependent on a British monopoly for what is, in a tropical country, a necessity of life. The
viceroy did not reply. To Gandhi this was the “opportunity of a lifetime.”

Question Description Select the correct chronological sequence for the following statements:
(i) Gandhiji leads seventy-eight volunteers from Sabarmati Ashram to Dandi
(ii) Gandhiji writes a letter to the viceroy regarding the Salt Act
(iii) Thousands join the protest against the British monopoly over salt
(iv) Several thousand protesters assembled at Dandi against the Salt Act.

A
(ii);(i);(iii);(iv)

B
(i);(ii); (iii);(iv)

C
(ii);(ii);(iv);(iii)

D
(i);(iii);(iii); (ii)

E None of the above

Correct Answer A

Marks 1



40 Comprehension READ THE PASSAGE BELOW ANSWER THE QUESTION:

On March 12, 1930, when the British still had a firm grip on India, Mahatma Gandhi and seventy-eight of his disciples
strode out of the Sabarmati ashram towards the sea. In the twenty-four days that followed they walked two hundred
miles, picking up more and more companions as village after village turned out to cheer the Mahatma and raise the new
Indian flag. By the time they reached their destination, the seashore at Dandi, the group numbered several thousand.
Earlier in March, Gandhi had sent a letter to the British viceroy protesting the Salt Act, which forbade Indians to make
their own salt and left them dependent on a British monopoly for what is, in a tropical country, a necessity of life. The
viceroy did not reply. To Gandhi this was the “opportunity of a lifetime.”

Question Description
To underscore the dire need of Indian people for salt, as against the British monopoly on salt, India is referred to as

A
still being in the British grip

B
a dependent

C
a tropical country

D
all of the above

E None of the above

Correct Answer C

Marks 1



41 Question Description The Enforcement Directorate (ED) recently made arrests in Goa, including a prominent leader, in connection with a
scam related to what?

A Mining permits

B Fisheries regulations

C Illegal land transactions

D Drug trafficking

E None of the above

Correct Answer C

Marks 1



42 Question Description Which Indian institute collaborated with DRDO to demonstrate an entanglement-based free-space quantum secure
communication system?

A IISc Bengaluru

B IIT Madras

C ISRO

D IIT Delhi

E None of the above

Correct Answer D

Marks 1

43 Question Description Which Indian military operation was launched in response to the Pahalgam terror attack?

A Operation Sindoor

B Operation Trident

C Operation Sudarshan

D Operation Shakti

E None of the above

Correct Answer A

Marks 1



44 Question Description Which species is being protected under the newly launched Cheetah Corridor Project?

A Leopard

B Asiatic Lion

C Cheetah

D Indian Wolf

E None of the above

Correct Answer C

Marks 1



45 Question Description India held bilateral naval drills with which country in the Arabian Sea under 'Samudra Lakshman'?

A France

B Sri Lanka

C Oman

D UAE

E None of the above

Correct Answer D

Marks 1

46 Question Description Which joint military exercise was conducted between India and the US Army in May 2025?

A Yudh Abhyas

B Vajra Prahar

C Tiger Triumph

D Cope India

E None of the above

Correct Answer B

Marks 1



47 Question Description With which country is India conducting the joint military exercise 'Shakti 2025'?

A France

B Germany

C Australia

D Japan

E None of the above

Correct Answer A

Marks 1



48 Question Description What is the name of the operation launched by India to evacuate its nationals from Iran amid the Iran-Israel conflict?

A Operation Surya

B Operation Shakti

C Operation Raksha

D Operation Sindhu

E None of the above

Correct Answer D

Marks 1

49 Question Description Which country is receiving India’s first indigenously manufactured locomotive export in 2025?

A Kenya

B Nigeria

C Guinea

D Ethiopia

E None of the above

Correct Answer C

Marks 1



50 Question Description In which month did Goa Chief Minister Dr. Pramod Sawant present the revenue surplus budget of Rs 26,765 crore for
the fiscal year 2024-25?

A January 2025

B February 2025

C April 2025

D May 2025

E None of the above

Correct Answer C

Marks 1



51 Question Description In a row of boys, Seby is at 20  position from left and Alan is at 22  position from the right. If both of them
interchange positions then only 18 boys are left to the right of Alan. How many boys are there in the row?

A 38

B 39

C 42

D 40

E None of the above

Correct Answer A

Marks 1

th nd



52 Question Description Select the option that is related to the third term in the same way as the second term is related to the first term.
Ichthyology : Fishes :: Pedology : ?

A Shells

B Names

C Soil

D Moon

E None of the above

Correct Answer C

Marks 1



53 Question Description Find the number which would come in place of question mark  1, 7, 37, 187, 937,
 ?.

A 4687

B 1823

C 5687

D 5000

E None of the above

Correct Answer A

Marks 1

54 Question Description Identify the next term in the series: 1,2,6,42,1806,…

A 3263430

B 3263443

C 3263442

D 3263421

E None of the above

Correct Answer C

Marks 1



55 Question Description In a row of 40 students, A is 13th from the left end. B is 9th from the right end. How many students are there between
A and C, if C is 4th to the left of B?

A 12

B 13

C 14

D 15

E None of the above

Correct Answer C

Marks 1



56 Question Description Statement: Should the government ban the use of plastic bags in the country?

Arguments:

I. Yes, it will significantly reduce environmental pollution and protect marine life.

II. No, it will lead to widespread job losses in the plastic manufacturing industry and inconvenience for consumers.

A Only argument I is strong

B Only argument II is strong

C Both I and II are strong

D Neither I nor II is strong

E None of the above

Correct Answer C

Marks 1



57 Question Description An obese woman who does not want to disclose her weight directly, says ‘I weigh 50 kgs plus one third of my weight.
What is her weight?

A 65 Kgs

B 70 kgs

C 75 kgs

D 72 kgs

E None of the above

Correct Answer C

Marks 1



58 Question Description Find the odd one out in the following series: 3, 5, 11, 14, 17, 21.

A 14

B 17

C 21

D 5

E None of the above

Correct Answer A

Marks 1

59 Question Description If SIZZLING is coded as 5 and ABSENTEE as 6, then what is the code for LETTERS?

A 5

B 6

C 7

D 8

E None of the above

Correct Answer A

Marks 1



60 Question Description Find the missing term in the sequence: 7,10,16,28,?,94,184

A 52

B 48

C 50

D 54

E None of the above

Correct Answer A

Marks 1

61 Question Description A is the father of C and D is the son of B. E is the brother of A. If C is the sister of D, how is B related to E?

A Sister-in-law

B Brother-in-law

C Husband

D Wife

E None of the above

Correct Answer A

Marks 1



62 Question Description A train 125 meters long passes a man running at 5 km/hr in the same direction in which the train is going, in 10
seconds. What is the speed of the train?

A 45 km/hr

B 50 km/hr

C 54 km/hr

D 55 km/hr

E None of the above

Correct Answer B

Marks 1



63 Question Description Choose the word that is least like the others in the group: Metaphor, Simile, Hyperbole, Allusion, Sonnet

A Metaphor

B Hyperbole

C Allusion

D Sonnet

E None of the above

Correct Answer D

Marks 1



64 Question Description The price of an petroleum product increases by 25% every odd year and reduces by 20% every even year. By how
much percentage, the prices would have risen or fallen after exactly 8 years?

A price would increase by 15%

B price would increase by 5%

C price would decrease by 5%

D price would remain same

E None of the above

Correct Answer D

Marks 1



65 Question Description
Find the 

wrong number in series: 1, -4, 9, 16, 25, -
36

A -4

B 9

C 16

D 25

E None of the above

Correct Answer C

Marks 1



66 Question Description Owner of a branded shoe showroom earns 25% profit after giving 25% discount. Now, if he wants to give 10%
discount, what would be his profit percentage?

A 30%

B 40%

C 50%

D 60%

E None of the above

Correct Answer C

Marks 1



67 Question Description New Jerseys are bought for players. If 6 jerseys are given for each player, one player will get only 4 jerseys. Also, if 4
jerseys are given for each player, 30 jerseys will be remaining. How many Jerseys are bought and how many players
are there?

A 90 jerseys, 16 players

B 94 jerseys, 16 players

C 90 jerseys, 15 players

D 94 jerseys, 14 players

E None of the above

Correct Answer B

Marks 1



68 Question Description If 'P' means 'addition', 'Q' means 'subtraction', 'R' means 'multiplication', and 'S' means 'division', what is the value of 8
R 2 S 4 Q 6 P 2?

A 10

B 12

C 14

D 16

E None of the above

Correct Answer B

Marks 1



69 Question Description The passage describes the rapid melting of glaciers, rising sea levels, and an increase in extreme weather events like
hurricanes and droughts. It also mentions the significant increase in carbon dioxide levels in the atmosphere since the
industrial revolution. What is the central theme of this passage?

A The beauty of natural landscapes

B The challenges of modern industrialization

C The consequences of climate change

D The importance of water conservation

E None of the above

Correct Answer C

Marks 1



70 Question Description Eight people—P, Q, R, S, T, U, V, and W—are sitting around a circular table facing the center. R is third to the right of
P. There are two people between R and S. T is to the immediate right of W. V is second to the left of U. T is not an
immediate neighbor of S. Q is not an immediate neighbor of R. Who sits opposite to T?

A P

B R

C S

D Q

E None of the above

Correct Answer B

Marks 1



71 Question Description Raju’s age is three years more than four times Balu’s age. After five years, Raju’s age will be one year more than thrice
Balu’s age. What is Raju’s present age in years?

A 8

B 13

C 32

D 35

E None of the above

Correct Answer D

Marks 1



72 Question Description Apply the logic of first two sets of numbers to find the missing number in the third set
25 (144) 49 64 (196) 36 4 (?) 81

A 100

B 121

C 169

D 129

E None of the above

Correct Answer B

Marks 1



73 Question Description In a certain code, 'CAT' is written as 'DBU'. How is 'DOG' written in that code?

A EPH

B EPJ

C EQI

D FQI

E None of the above

Correct Answer A

Marks 1



74 Question Description Read the following passage and answer the question:

"While the invention of the printing press revolutionized the spread of knowledge, it also inadvertently facilitated the
proliferation of misinformation. Before its advent, the laborious process of hand-copying manuscripts acted as a natural
filter, as scribes were less likely to invest time in duplicating demonstrably false or trivial content. The digital age, with
its instantaneous global communication, has amplified this paradox, making discernment more critical than ever. The
challenge lies not merely in access to information, but in the cognitive labor required to separate fact from fiction."

According to the passage, what unintended consequence of the printing press is most amplified in the digital age?

A The laborious process of hand-copying manuscripts

B The reduced cost of knowledge dissemination.

C The increased difficulty in distinguishing truth from falsehood.

D The decline in the demand for skilled scribes.

E None of the above

Correct Answer C

Marks 1



75 Question Description Consider the following phrase:
Statement: A line from Ram's appointment letter is "you are hereby appointed as a systems engineer with a probation period of two years
and your performance will be reviewed at the end of the period for confirmation."

 Assumptions:
I. At the time of appointment, the performance of one generally is not well known.

II. In the probation period, one tries to prove his worth generally. Choose the correct option given below.

A If only assumption I is implicit

B If only assumption II is implicit.

C If either I or II is implicit.

D If both I and II are implicit.

E None of the above

Correct Answer D

Marks 1


